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close all;
clc;
%A m 73
r = 3;
a =1;
delta_t = 1;
M=1[1, 1, 0, 0, 0, 1];%% & 6 (%17
Np = 2~length(M)-1;%M /741 & 1]
u = zeros(1l,(r+l)*Np);
for i =1 : (r+1)*Np
u(i) = M(6);
m = xor(M(6),M(5));
M(2:6) = M(1:5);
M(1) = m;
end
u = (1-2*u)*a;
figure,hold on
plot(u);
title("4 5K M FHIENFIN");
x1im([0, (r+1)*Np+1]);
hold off
% [ I P
A=27;x0=41;M=27~16;Num=(r+1)*Np;N=Num*30;

v=zeros(1,N);

for k = 1:N
X2 = A*x0;
x1 = mod(x2,M);
vl = x1/M;
v(k) = vi;
X0 = x1;
vo = vi;
end

B=reshape(v,Num,30);

noise=zeros(1,Num);

for i=1:Num
noise(i)=(sum(B(i,:))-30/2)/(sqrt(30/12));

end

% estimate g

T1=8.3;T2=6.2;

den = [T1*T2, T1+T2, 1];

K = 120;

G = tf(K, den);

tt=0:1length(u)-1;

Y = 1sim(G, u, tt);




Y=Y';

Y_noise = Y + noise;

figure, hold on;

plot(1l:length(noise),noise,'g");

plot(1l:length(Y), Y,'r');

plot(1l:length(Y_noise), Y_noise,'b");

legend([ 'Gaussain Noise',"System response","System response with noise"]);
x1lim([0@, length(Y)+1]);

hold off

time = @:delta_t:(Np-1)*delta_t;

go = (120 / (T1-T2)) * (exp(-time./T1)-exp(-time./T2));%Flit
Rmz=zeros(1,Np);

for tch=1:Np

:p:ziil=Np+1:(r‘+1)*Np % _/I\AE(J j:li%g‘_hatIEE
SUM=SUM+u (tcl-tch)*Y_noise(tcl); 1%*5E’\J/AE , ﬁjz
Er::(tch)=SUM/(r‘*Np); él :.F-:::_}J %g_h at

end
g_hat=Np*(Rmz-Rmz(Np-1))/((a~2)*(Np+1)*delta_t);%fhil
g2=g0-g hat;%ix7%

figure, hold on

plot(1:Np, g0, 'r');

plot(1:Np, g _hat, 'b');
plot(1:Np, g2);

title("Result");

legend ([ "HARE", "MilE", "R 2E"]);
xlim([@, Np]);

hold off

figure,hold on

title("Rmz");

plot(1:Np, Rmz, 'r');

xlim([@, Np]);

hold off;

error_sum=0;square_sum=0; tﬁéﬂ Z]I:I i;%i-l_%

for count=1:Np

error_sum=error_sum+(g0@(count)-g hat(count))”"2;
square_sum=square_sum+g0(count)”2;

end

sigma_g=sqrt(error_sum/square_sum);

disp ([ "kppma Rz 2z R ', num2str(sigma_g)]);
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86 L square_sum=square_sum+g8(count)”"2;
87 end
88 sigma_g=sgrt(error_sum/square_sum);
89 disp ([ " Ikebm it i ie 2y ' num2str(sigma_
wSiTEN
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